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d-Aetrctu
r. En $r-r-.r;r A ffi S sqr frs rs ftrffu erm vt sq-{r

rgfficto.frfts r

z. q$ c!r] * i'at €frs r

s. qScffi'* 316'tqrcl r

4. qrunqffi&Asq+{d rgcfti,

s. ori qlq6qr<1u slt uBereilfu+ret o,rsq+.r o,'d*
rgrfr* r

6. EirnFr-q? t5rvar qt$qrEff ffi f'o qrqrt ffiq, efr-r
qrfr sflt 6r cnrq s-*- ff +{ ilEs r

(a) "Wealth maximization is a better criterion than
profit maximization "Do you agree? Explain. (8)

(b) Explain the Time Value of Money Concept. What
are the factors affecting the Time Value of
Money? (7)

OR

(a) "Financial Management has expanded in its scope

during last few decades". Examine the modern

approach to the scope of financial management.

(8)

15

**' ftRas v+, frRR cR'+tr{ + A-fl,isur + fts
?roo ir€r fr ffiftn 1fr g-cr+ 6 qtqqr r{ r& *r
q€ a ffiq' qtqcrfr w Toqm-{ fi (& *:

(i) {rc cR * ro,oo,ooo ERqe fu{ vrt qrqr *t
(ii) t4% qrfi qr sr& ooo Frrtr ttar urt o.r<rr

EBrr * r<fuqrr <t S rrunr dftqr (e)

(E) A Ltd. ?6r n-fr{ qqff {&r< AEe ffR d e-cd}
rR G-qR q'{ ra *, ffi qr fre{ur fti Pqr rrqr *:

u-{ d fftrr Er 20% *t so, s{ + 360 fr{ qH} Ec
gflq Aec 6 qtt-<r fro-il {q+ ilwT *t

(z)

(o') ffifre fuiq e Ltd., B Ltd., *< c rta. t
sfrr *:

3 066
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*E dffi c-fqn ctftffr cffiIt clffirlr
B-ff ,00,000 {1,12,000 ,20,000 {1,24,000

ftfrtr *sqi.
cng-*+qtrFre

800/0 8oo/o 80o/o 80%

Rrr rn-r {12,000 {12,000 <12,000 t 12,000
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Md*E{mwXrh:arfi}
rqor gr cri E6ri ?so cIil {Tc

s-.=r rntr{ R-fi 1u rrT so%

rsr rru-(t: ffi {s qr to"a

ffiqr fffr {er rfir 20%

frfi qm qr ffi( sflre,r air i, *r cil$ d{
ffiq€ qqr{ sq t sfrid *t fi rqt c,r WrirF{

scrd-{ * fi.r+ xfr} } frqr qm il seq'et qm d
gasm + qrrff 6r sq*{r frqr uror il c{-et-fr*s
+ frffir yhiqr fr {oflrd i q-d qm 6 $ Eo,r{

qr scfr.r st sox * <rq< r;q sqrrtq arrc nrh-a

lr urv6] xYZ Ltd. fr crftffr iff rr wr arwr

(e)

(q) frffi qrqsrQt' *4 6 ordfiv iS ama-+ar* +
rg€ ffr+, 6$ fr qq dfrar (z)

glgralt

(u,) ffitur ta fiq RRls 6I t,
+Wr 5fi "dcqqT. {ro r-46 + ro Hrq EEq& *qr,
qr6Ersoxil

(b) The cost of the plant is {10 Lacs. It has an

estimated life of 5 Years after which it would be

disposed off (Scrap Value - Nil). Profit before

. De.preciation, Interest, and Taxes (PBIT) is

estimated to be t3.50 Lacs p.a. Find out the yearly

cash flow from the plant (given the tax rate @
30%). (7)

(a) B Ltd is considering two proposals I and II with
the following details :

Items Year Proposal I Proposal II
Investment { 19,000 t 40,000

Cash Inflows Year I t 8.000 ( 16,000

Year 2 < 8,000 < 16.000

Year 3 { 9,000 < 24,000

(b) What is meant by capital budgeting decisions?

What are its main features? Why do NPV and

IRR techniques of evaluation of capital budgeting

lead to conflicting project ranking? (7)

3066 3
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You are required to suggest th€ most attractive

proposal based on the NPV method considering

that future incomes are discounted at l2%. Also,

find the IRR of the two proposals. (8)
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OR

(a) A firm whose cost of capital is l0% is considering

two mutually exclusive projects A and B, the

details of which are as follows :

Iterns Yc{f Projcct A Prrject B

0 < 50,000 { 50,000

Cash Inflows I { 5,000 { 25,000

2 < 10,000 { 20,000

3 { 15,000 t 10,000

4 < 2z5N t 5,000

5 t 30,m0 t 5,000

Compute the Pay Back Period, Net Present Value

at l0%, Profitability Index, and Internal Rate of
Return for two projects. Which project you would

recommend out of the two and why? (15)

(a) A Firm sells its product at {10 per Unit. Variable

cost Ratio is 70%. Fixed Cost is t10,000. Present

sales are 10,000 units. Calculate the following:

(i) Degree of Operating Leverage.

(ii) New EBIT if sales increase by 40o/o.

(iii) New EBIT if sales fall by 25%. (8)

13

(t,) rnv N ftRls * ffifte ifi rtr+tr l:
fiqA +c( (z,oo,ooo) 4o,oo,ooo

I0% aBqrfr ic( D,oopoo

rc% E+iR 3o.oo.ooo

80 I)0 I)00

qffi q +{r rfffi I <zs tn ffq-<t il q? urftE

fr ilff * fr ecft ?2 rfr iqt sT arqm &n d
*slr + Rs 7% 6 E{ t s}IIIr fi 6 s( so% rT.{

flfrqr ilqs] ql-{qr Eff tffir R i$t d urRt s}rd

flr|l-d d rror<r qrft il (o)

(e) 'zur fr nFra qH *t qt rffi d arrn t qt *fr
*r" fq+ sim, aq d qrre fr rrsr<r + Ffuq
(H d qrer dfrqr (z)

(c,) 'xYz Ltd. 6T qt<r ffqqw t:
s{ 6t vflrfi: copoo g6d

tqn qm $: s r0*
q'd mr 6 US, z qfi* 6 qq-c

Yf,lltFI llfrhqr: t qftqt

ffis<r rlrc*Be: z qff*
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(o) vo, w{ w+ Yerc E} {rc xft {+c d E( + ffi
*r qRq'tftq dr.rd irgqir 70% ir ffFq-c qrrn tto,ooo

tr qftrq frfi ro,ooo Eoqq] d lr ffikc d
irFr;fl r6[Elr{ :

(i) cRqn{Irc flrq rfir Er{t

(ii) qe ftfi il lov" rq 6 Efr *fr i, n) qqr

{ffsrtA flI 6}.rr

(iii) qR ffi { zsy" rq ft{s-c *fr l, d qqr

{ffqr€A RT *{rr (a)

(e) x Ltd. ilt{ y Ltd. v.n ff G}Rdq *dt + rd.td infr

* *{ {S qrr& + tqrr l, Rsrc Eq+ fr'qffi x
Ltd. Eq qr scfrrr 6(& t vqfu sm Y Ltd. TuI
qr scqlr rfi q,'ffi ir ffis u{, x rta. * qrs

te,oo,ooo g*qi * fu{ qt tox d qrq Et *r ffi
qqM <ts ars 6 E-o ffi q< eox qRqrtrc drq

stra 6tff il chq8 TffE-<ur at (*€) rsv" lr
*q) 11-< fiq (ca-sr{) gFr+}ot ot 3q+{ fld m.'{

x Ltd. *{ y Ltd. * 1ro 6 rror<r 6..rff tr rr*
rom, a+- s-fr x Ltd. *t v lta. d tS (+iil)
qi tq{ Frr{lI d quHr dfrqr (z)

(b) X Ltd. and Y Ltd. are in the same risk class and

are identical in all respects except that company

X Ltd uses debt while company Y Ltd doesn't use

debt. The levered firm, X Ltd. has t9,00,000
Debgntures carrying a l0o/o rate of interest. Both

the firms earn 20o/o operating profit on total assets

of t I 5 lakhs. The equity capitalization rate (ke) is
l5%. You are required to calculate the value of
firms X Ltd and Y Ltd using the Net Income (NI)
Approach. Also, calculate the overall cost of
capital (ko) of both the firms X Ltd and Y Ltd.

(7)

OR

(a) Manoj Traders Ltd has the following capital
Structure:

Equity Shares (2,00,000) 40,00,000

100/o Preference Shares 10,00,000

10% Debentures 30.00.000

80.00.000

The share of company currently sells at.t25. It is
expected that the company will pay a dividend of
{2 per share which will gro\tr at 7o/o forever.
Assume a 30o/o tax rate. You are required to

compute a weighted average cost of capital on

existing capital structure. (8)

3066 5
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(b) "The cost of debt is generally lower than the cost

of equity." Explain. Also, explain various methods

for calculating the cost of debt. (7)

4. (a) The details of XYZ Ltd are as under:

Production of the Year: 60.000 units

Finished Goods Inventory: 3 Months

Raw Material Inventory: 2 Months Consurnption

Production Process :l Month

Credit allowed by Creditors: 2 Months

Credit allowed to Debtors:3 Months

Selling Price per unit { 50 per unit

Raw Material: 50% of the selling price.

Direct Wages: l0% of the selling price.

Overhcads: 20oi, of the selling price.

There is regular production on the sales cycle,
and wages and overheads accrue evenly. Wages

are paid in the next month of accrual. Material is

used at the beginning of the production cycle.

Work-in-process involves the use of the full unit
of raw materials at the beginning of the

1l

(ra) Tfrtm c-trc ffuf* t qr <m4 i? E{* Iq RM
sqr l? {ff {trc + {i4r6-{ fr R-{Qff qk sr{srcrR

n-o-ffi'qrw EtA cR+d-{r ffi.t d wl v-r t&
t? (z)

SIEEIT

(u') co' 16'{ ffi ifr arra rc% +, a qrqtu sq t
rfiq qfr+ffir* A flt( B cr ftqn q't {e e, fsri-{r

fret"r ffqqqn *:

n qRqlmdr + frs hfur srcfr ir<E, ga e$arr ae
lo%, imreErlr {il-6rc6- *t frffi.6. qrqo Et d qq-<r

dfrsr Bilc fi t t B( cRqk{r d Mr ott
ek un-? (rs)

6 3066

c+ E{ qfi:ck{rA cft+q-fl8
i{Fr{ 0 t 50,000 { 50,000

Tfr'fr cEr{ I t 5.000 < 25,000

2 t 10,000 a 20,000

3 < t 5,000 { 10.000

4 < 22,5U) { 5,000

5 t 30,000 < 5,000
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(t') 'G-fru rfir{ + ffRe Ao eud + +ffi $c+ crR

i frwn ftqr t,r ffi{ n-ftrq + qA * fts ilgRq.
gHq d frq dfrer (a)

(s) B Ltd. ffikd ffi + r$c i nwr& r *r u

ct EqR 6r (& *:

c? sf FKTFT I ITCTl?tII

Rlsr t19,000 t40.000

rr&mm a*l <8,000 {16,000

qi2 <8 000 < 16,000

<9 000 t24,000

i{rqd \-{frfr Efu d qrqn q-r R-qt firm$6, nkftl 16'r

Csrs iqT *, qa iqi Es fr qRq d qr< rz"/" qr

qd ff Grfr il gc* s-drsr, A ,Rrd 6r i[r$€rRo{R

an frfrril (a)

manufacturing process and other conversion costs

equivalent to 50%o. You are required to find out
the working capital of XYZ Limited. (8)

(b) Explain the major determinants of the working
capital needs of a business firm. (7)

OR

(a) The following data is of Frank Ltd.:

Existing Capital Structure: l0lakh Equity Shares

of {10 each, Tax Rate is 5070.

Frank Ltd plans to raise additional capital of { 100

lakhs for financing an expansion project. It is

evaluating two alternative plans:

(i) Issue of 10,00,000 equity shares of {10
each and

(ii) Issue of {100 lakh. debentures carrying a

l40Z interest rate. You are required to

calculate the indifference level of EBIT.,

(b) The management of A Ltd is considering changing

its present credit policy thq details of options are

given below :

3066

i,

2
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(s) qqa d wro {to f,r€ lt Eq-or wgqrR-d SsoT6FT

s s{ i frrc* Erc qffnT frTfl{ frqr qrwn (dc

1r- qa)r IS{RT, qm ofu m (fr&artff) + cre
FrrT 3.so arq tc+ yR sq A+ ff iE{rr ir tr* t
sfif*. Tq'fr lnrd tnr rrdr il{rs (fi d vt 6 ooz

ff r€ *)r (z)

"{'3

7
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Ctedit Policv Prcsent POLICY I POLICY II POLICY I

Sales <1,00,000 {1, t2,000 t1,20.000 <1,24,000

Variable Cost as a
% of Sales

80.,/0 80% 80yo

Fixed Cost <12,000 {12,000 {12,000 t12,000

Average
Collection Period.

45 days 60 da, s 75 days

3 066 I8 3066

The firm's rate of Investment is 20%. Assuming

360 days in a year Advise which option is best.

(7)

(a) The following are the details regarding A Ltd, B
Ltd and C Ltd :

B Ltd C Ltd

r =5o/o R= 10%

Ke = l0% Ke=l0o/o Ke: l0%

E=<8 E:{.8 E:t8

Calculate the value of an equity share of each of
these companies by applying Walter's formula

when the dividend payout ratio is (a) 25o/o

(b) 50% (c) 7 5%. What conclusions would you

draw? (8)

(b) Explain the Gordon's model of dividends.
What are its assumptions? Does the value of the

firm is affected by the dividend policy as per this

model? (7)

OR

Write short notes on any three of the following:

(i) ABC analysis of inventory management.

(ii) EBIT-EPS Analysis.

(iii) EOQ Model

(iv) Difference between Operating and Financial

Leverage.

(v) Cash Budget. (15)

(q') 'qrq ifiEstcolur fr ga-+ { q-{ fl8*,-{T6-{sr yo,

trfl qc-{s *' er qrc rrr{d i? qq dfrql
(s)

(rE) W fr irqqrm * qm Itr d qq dftsr lsr *
({q Is d nqrR-d q,{+ sA or$. qr iil S?

(z)

. tf,stql

5

l.

I
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8oo/o

30 days

A I,td

r = 15o/o


